## 8.2) Integration by U-substitution: part 2

- Sometimes when we substitute we end up with an "\_\_\_\_\_\_\_ x or two still left.
- In certain cases, these can be removed by an additional <u>SWGTITUTION</u>...and we still end up with a <u>ManagenDle</u> integral.

Example: 
$$\int x\sqrt{x+1} dx$$
 "extra"  
 $y = \chi + \frac{1}{2} \int (\chi) \sqrt{d} u$   
 $\frac{d}{d} \frac{v}{d} \chi^{-1} \int ((u-1)) \sqrt{2} dv$   
 $dx = du$   
 $\int (u-1) \sqrt{2} dv$   
 $\int (u^{3/2} - u^{3/2} dv)$   
 $\chi = \sqrt{-1} \frac{2}{5} \sqrt{\frac{2}{2}} - \frac{2}{3} \sqrt{\frac{2}{2}} + C$   
 $\frac{2}{5} (\chi + 1)^{\frac{5}{2}} - \frac{2}{3} (\chi + 1)^{\frac{3}{2}} + C$ 

## 

Definite integrals with u-sub:

Example: Evaluate 
$$\int_{0}^{4} \sqrt{2x+1} dx$$
.

Method 1:

- 1. Make u-sub and evaluate the indefinite integral first.
- 2 Substitute r's back in for u's

$$\frac{dV}{dX} = 2 \longrightarrow dX = \frac{dV}{2}$$

$$\begin{array}{c} x = 0 \implies \forall - 2(0) + | = 1 \\ x = 4 \implies \forall - 2(4) + | = 9 \\ = \left[\frac{1}{3} \quad \forall \frac{3}{2}\right]^{7} = \left(\frac{1}{3} \quad q \frac{3}{2}\right) - \left(\frac{1}{3} \quad | \frac{3}{2}\right) \\ = \left(\frac{1}{3} \quad \forall \frac{3}{2}\right)^{7} = \left(\frac{1}{3} \quad q \frac{3}{2}\right) - \left(\frac{1}{3} \quad | \frac{3}{2}\right) \\ \frac{2}{3} \quad \frac{2}{3} \quad - \frac{1}{3} = \frac{26}{3} \\ () sqr \ rod - f + N + f \\ (3) \ cube / e \times poment \end{array}$$

 $\frac{21}{3}$ <u>´</u> 3 

mult Math A&A SL Dr. Downes dx giving answer in the form  $a \ln p$  where  $a, p \in \mathbb{R}$ . Example: Find  $\int_{0}^{1} \frac{x-3}{x^2-6x+7}$  $\frac{X-3}{v} \xrightarrow{dV} \overbrace{ZX-b}^{X-3} \xrightarrow{X-3} z(X-3)$  $V = \chi^2 - b\chi + 7$ 2  $\frac{dv}{dv} = 2X - 0$  $\int \frac{1}{2} \int \frac{1}{\sqrt{v}} dv$ =  $\frac{1}{2} \int \frac{1}{\sqrt{v}} dv$ =  $\frac{1}{2} \int \frac{1}{\sqrt{v}} \frac{1}{\sqrt{v}} dv$ =  $\frac{1}{2} \int \frac{1}{\sqrt{v}} \frac$  $dX = \frac{dv}{zx - l_0}$ X=1=1-6+7=26 x = 0 = v = 7 $=\frac{1}{2}(\ln 2 - \ln 7)$  $=\frac{1}{2}\ln\frac{2}{7}$ 

One more integration strategy before we move on...

Numerator is derivative of denominator If an integral is of the form:  $\int \frac{f'(x)}{f(x)} dx...$ ... then we can just write down the antiderivative as  $F(x) = \ln(f(x)) + C$ . Words: (f numerator is the aerivative of the denominator, then antidevivative/integral ĴĴ In (denominator) +c  $V = \chi^{2} - 3\chi + 4 \qquad \int \frac{2\chi - 3}{V} dv = \int \frac{1}{V} dv = \ln V + C$  $= |n(x^2 - 3x + 4) + C$  $\frac{dV}{dx} = 2X - 3$  $dX = \frac{dU}{2X-3}$ Example:  $\int \frac{3x^2 e^{x^3}}{e^{x^3}} dx$  $y : e^{x^3} y' : 3x^2 e^{x^3}$   $M e^{x^3} + C = X^3 + C$ (ance)  $V = X^{2} - 4X + 8$   $\int \frac{X - 2}{V} \frac{dv}{2X - 4} = \frac{1}{2} \ln X^{2} - 4X + 8 + C$   $\int \frac{dv}{\sqrt{2}} \frac{dv}{\sqrt{2}} = \frac{1}{2} \ln X^{2} - 4X + 8 + C$   $\int \frac{dv}{\sqrt{2}} \frac{dv}{\sqrt{2}} = \frac{1}{2} \ln X^{2} - 4X + 8 + C$   $\int \frac{dv}{\sqrt{2}} \frac{dv}{\sqrt{2}} = \frac{1}{2} \ln X^{2} - 4X + 8 + C$   $\int \frac{dv}{\sqrt{2}} \frac{dv}{\sqrt{2}} = \frac{1}{2} \ln X^{2} - 4X + 8 + C$ Example:  $\int \frac{x-2}{x^2-4x+8} dx$  $dX = \frac{dU}{2X - 4}$